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PART - B (Q. No. 51 - 150)

,Sl./{ What is the least number to be subtracted from 696 to make it a perfect square ?

(a) 2 6
(© 35 ¥, 20
AE 3 8¢ "R, fARg 696 ‘F° w8z 3 &7 Aygs a1 wew' 3, faoar 3 ¢
@ 2 ® 6
(¢) 35 d) 20
_}1." :;:g the greatest number which divides 83, 125 and 209 leaving the same remainder in each
(a) 24 H b) 12 e
AT 42 @ 17 "

A 3 I3 vid Uz &3 fn & 83,125 i3 209 § I 96 3 79 ¥ fule fES fraar
& Tt gger I

(a) 24 (b) 12
(c) 42 ) 17
_}3.’ If in certain language, CODE is written as DPEF, then how is POWER written ?
(@) QNXFS (b) QPVFS * spxfS
/('g) QPXFS (d) None of these

>

/s/.

A

g

cL

3 fit ¥ gTHT f%9 CODE & DPEF fisftmr 7fer 3, 3F POWER 3 fo’ fisfemrr Frear 2

(a) QNXFS (b) QPVFS .

(c) QPXFS @) fegst feg aFt &It .

A man walks 5 km toward south and then turns to the right. After walking 3 km he turns to

the left and walks 5 km. Now in which direction is he from the starting place ?
South-West (b) North

(c) West (d) North-East y

f%'aa”?é‘dzéssfaa’nﬂzaménéﬁﬁawaj 3_}%{@%3‘0’83%@

2wz ) w3 fadited der J gz G0 ggnrst fifg 3 fam femr 36 9 2

—_—_—

dyz-UdeH ®) €39
f? (d) €39-yJE
A’ cube of side oné metre length is cut into small cubes of side 10 cm each. How many such
small cubes can be obtained ? e oo oo=s
e }go @ 10000 .
%mﬁﬁﬁwﬁﬂwﬁloﬁmﬂﬁﬂaﬁﬁ—wﬁamwﬁn
D fid 8¢ W2 fred 9 .

1000
23 :go (d) 10000
f a field of length 100 metre

¢t is tied by a 1ope of length 10 m to a pole at a corner 0

a .
aAng ?:vrcadth 50 metre. What is the area of field it can graze ?
@ 157 (b) 20mm’
J d) 30mm?

25t m - 2 n n
fﬂamvjloolﬂﬁmmésomﬁMQa%%uﬁmmmwﬂﬁf
s it 7 31 RO o gy oy st 99 R 3, foler 9 0

@ 157 (b) 20m m? \
© 25mm (d) 30m m? 1Y g G
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Select the odd one from the following : “)

(@ S13 ¢ <
b) 342 T
AT 135 td) 124 g g
fmﬂfmzfevéu%agg
(@) 3513 342
) 135 ﬁg 124

Which two signs should be changed to make the given equation correct - ?
39+3%13+26-13=2 . ‘.s-

(a) X and - }A‘:),.\"H'aé () = and X
A amd— (d) +and-
foaEs mitaes § Adt a9s ot fxod § g (signs) EE83 IR T5 7
39 +3%x13+26-13=2
(a) xn3- (b) =+n3X
(C) <+ »@ - @ +n3-
/59/ 24: 48 = 28:7
(a) 280 () 168
(c) 86l A& 56
24 : 48 = 28:?
(@ 280 () 168
© 86l @ 56
In a certain code language, h repments x’, ‘=’ represents ‘+’, ‘x’ represents ‘+’ and
‘+’ represents ‘— ﬂ;an- 2+ 27 -0
Then what is value of the expmsmn 825x25-27+10 =
@ 25 b) 20
50 (d) 100

ﬁﬁﬁm%ﬂ'+€3ﬂ"€?"axi‘j ’ma‘#?jscx‘ﬁﬂ"%%‘#é
w3+ TaRge 9 = 3 3 AHEEs 825X 25 - 27 = 10 =7 o &Y oKz I 9

a) 25 “ ®) 20

8 50 @ 100

Pointing to @ photograph of a boy Ajay said, “He is the sop of the only son of my “}_?ther”.
How is Ajay related to that boy 7 .

. ®
(2) Brother (b) C:t‘;s: A A0

1
%%%ﬁ@mm@ﬁ I Y, Qo et ot} fead Usg w

= : b) w5

(a) % @) fugr
/‘:”mt will e the next e n the gven S %9.31, T

. ]
’ (a) 36! (d) 383
f&8 gy

%%mzs 49, 81,121, 169, .- o ’;ﬁa‘?% 2

25



ng séntence ;
2t Tkute the Adjctive in he following

ks in films,
S ter who o wor
/Ml;c )\pl:::::;l than her Tlf) Sister (c) Works (d) Films

J Locate the Adverb in the following sentence
They worked very diligently for the UpCOming concert burning the midni ght oil.

(@) worked diligently (¢) upcoming (d) the midnight oil
% Choose the correct synonym for :
Naive : ‘
_AaY  Greedy (b) Tired (c) Intelligent (d) Innocent
# Choose the correct antonym for :
Crooked .
Detest (b) Straight (c) Clumsy (d) Immense

Choose the right term for :

A disease found consistently in a given place or in a limited group of people

(a) Endemic @) Epidemic (¢) Pandemic (d) Contagion
Choose the correct meaning for the following idiomatic expression :

Jump on the bandwagon

(a) give away a secret (b) no matter what

(c) following a trend (d) rarely

Choose the correct article to fill the blank in the following sentence :
4 Heis most capable officer in the whole battalion.
(@) a (b) an Ac)— the (d) No article
/ Choose the preposition to fill the blank in the followmg sentence :
Hejumped ~ theriverto fetch her a coin.
(@ to (b) from - )e-)" into (d) in
134 Active : Somebody has stolen my Wallet
Passive : My wallet

(a) has stolen _AB)  had stolen
(c) has been stolen (d) had been stolen

7 Direct : Sujata said, "1 am playing g peoygsion instrument.”

'Indirect : Sujata said that laying a percussion instrument.
(@) Iam ®) Twas — P ey~ sheis (d) she was

Locate the Subject in the following gori o e -
While working in the bank, she gy , [ "aout beneficial investments.
(a) while working in the hapj

she
() learnt (d) about beneficial investments
Locate the Verb in the fOllowi entence :
Johp,and his sister who is in th“ :
are travelling heatre group are travelling to France.

(b) John and his sister
John and his sister wh i
fg)) to France o is in the theatre group

CcL 8



Tet BT
¥ wI () "R © " S
}/‘W’mwmﬂmaaa et
(@) wifder ®) 3 © for S
7 hﬁmwﬁvmwa@nﬁﬁﬁﬂwm 85" § foror wter
Ly 87 Tex ugste (b) FEU-TTH UFS'E
(©) Y9Y T9x yzsie d) forEesa UFaT
}./wﬁrma%:
e & BT I T R oy @
() fes - by~ iyt © ¥& (d) ng
. e ey
(@) =3 TN J=r (b) Wi TIA Far T g
Y #33 Hidar 3= (d) oE &t
W v fedht mue Y -
(a) TSt ®) e 9 7 d) UAEw

. T &S & T fRos de e ¥ 9

(a) fro<, goet, & ®) Ha=, gt m

(c) faordt, firorst, gt by TR, faordt, w
ﬁawmgﬁ%‘mm%%ﬂaﬁ%‘méﬁglﬁwﬁw;ﬁ@%;

HJ™& (b) " © % d) It FF
)/mﬁﬁaﬁaaﬁww%,enwmwa;
ﬁﬁﬁ%(m)vwwﬁéﬁwﬁma:

(a) fiet & b) fadi &
‘Endorsement > € M8 J ! :
P(a) MEHS by Sio-vite. 4 AfI-Ugg () 5
Ha REe 99 &
&, = fomsr (c) T
uB3d I
P yragoe e (b) Tz © e
C
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oberar:
%’hich of the following is NOT 3" OPerating system ?

; (b) Unix
(a) Linux
- d DOS
Pﬁ/ N[lcl't:%(:ﬁ Access . A ®: a(?)
(a) 3R (b) E_Iﬁ’a_om
¢) MEIAEE nighA (d) 3R (Ft&»m)

» What is the smallest unit of digital information 2 :
(a) Bit (b) Byte (c) Terabyte (d) Gigabyte
X(a) fae (b) EEC © s @) Feraee

* In MS-Word this option suggest other Words with a similar meaning to the word which you

have selected -
Aa) Thesaurus (b) Semillon _(¢)_ Format Painter (d) Indent
2 _ﬁn_mﬁgmﬁz(m)f&ﬁ@a@m%mme@mw
(a) dAGaR (b) MBS () T9HcUes (@) f&32
/91/ Which keyboard shortcut is used to undo the last action in Microsoft Word ?

(@ Cul+Xx (® Cul+A (© Ctl+y @ Ctrl+Z
Wﬁqmazﬁsﬁvﬁm%wgm(m—g)maﬁaﬁ—ﬁaz?mm
I3 "wer J 2
(@ Cal+X (b) Ctl+A (© Ctl+Y @ Ctl+z
Which of the following is not a web browser ?

-Aa) Telnet (b) Google Chrome (c) Mozilla Firefox (d) Microsoft Edge
forsfes S faga 20 woma 5t 3 2
(@ B3z ®©) Ta® Py (c) Wiaer erfesdan (d) Wetgaee W

9 Which symbol is used to indicate an absolute cell reference in Excel ?

@ # O @ © & @- s
(@) # ®) @ ©) & d s

/91," Which one is not a Storage Drive of Computer ?
s (a) Solid-Segment Drive (b) Pen Drive

(c) TI5 ford 3TER | @ FAFH s

2" What is the full form of IP in Tcp,pp protocol of Network ?
(a) Internet Practice

I et Protocol
(c) Information Pra_gice /g{ Ig;rt‘;ty P::cﬁce
et At & 32e3d ? fimergry o

2 Yeam) LA mretadt. e fererausea wigg ot
Q

. fgzade Yafen i R

) Feseams daton () Meody ydaw

(d) nrefedt Yafen
cL 10



A

%’.’I. The city of Takshashila
8 ‘ was k
b Larming nown for

] ttl

(¢)  Arts and Architecture 22; '?:adee and Commerce

- B Frfor wier it 9

@) vz = (b) Har B

() W’ﬂ%mmw (d) T w3 T BET
% Name the mother of Puran Bhagat :

(a)~ Luna (b) Ichhran (c) Sundran (d) Shakuntala

OSSRt er sty .

@ & ®) feet () Heat &) FIT

987 Where did Guru Nanak com

pose Japji ?
- (@) SultanpurLodhi (b) Lahore () Kiratpur 4y Kartarpur
IY 55 3 AU T T9A Ay a9
(@) BEIaYT Fdt (b) ®I9 () s93ue (d) SIITUI
_/99./ Who is associated with Sulha Kul ?
(a) Birbal Akbar () Mian Mir (d) Aurangzeb
B 3% 578 aE REfaz 3 9
Jm)y) go9g® b) =g () it ig (d) n»idomy
. Bulleh Shah is known for :
)  Sufi poetry (b) Asceticism () Bravery (d) Orthod
‘/g% "I § wrenr wer 9 o
8 FACTSET (b) NwsRt (o woedt m (d) Tz F

- Who succeeded Maharaja Ranjit Singh ? y
(a) Sher Singh (b) Chet Singll (¢)~” Kharak Singh
HITH I3 fRw T 3amiftardt &= 7t 9

@ FHw - ) I3 Hlw © wWEf (@) 3o e
10X. Who was the President of the Board of Administratjop

(d) Naunihal Singh

(1849) 2
_(ﬁr John Lawrence - (d; Henry A
(c) John Nicholson _ Richasd Moo
YATHS € 895 1849 (835 me wistHisAgrs 1349)?,%%%11;@
(a) & &IAH ® Yt

(c) ¥5 faaasrs () S :
Mhich function is used to calculate the square root of -
(a)

Umber in Exce] 2
(b}~ SQRT © so )
fan n?;gme & é;' 595 SET WahS g raaal,n. (d) SRooOT

(a) SAND (b) SQRT © Sopp E'af'a:;r) ﬂws,rrkggT
104,/How is the Punjab mentioned in thg Rigveda ':m/

U R oy ot famr y Sapta Sidhavah (d) Lap

Jarg # faaree f¥e far 3§ Tomfent ) A

@@ UAg ®) zH-ET ()

%fm’_"’a ) 33 gar

CL
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0S. Which field did Dhani Ram Chatrik belong to ? @) Asriculture

(a) Science (b) Sports (e) " Literature
TR T Trfyw faw AT & AET e TG 7 -
(a) feforrs ®) ust (c) A3 4
106. When was Bhagat Si ?
@ 1928 Sm%m;%ﬁ (©) 1941 (d) 1945
s e § a@ et R aet 0
a) 1928 (b 1931 (c) 1941 ) 1945
. Who was the Chairman of the Punjab Boundary Commission (1947)?
(a) B.J. Glancy () Muhammad Munir
(c) M.C. Mahajan ~d) Cyril Radcliffe
URrT TGS afima(1947) T ARG 3 A ?
(a) R WA (b) HIHE YA
/) »H.H. HoWS (d) Fifes Isafee
What is an Algoza ?
( Musical instrument (b) Part of dress of Bhangra
(c) Form of dance (d) Supporting stick
i ot & 2
(a) HIftz U= () . Fa3 & zget T A
) &g et fam (d) AT A (Af)
/\:/hich city is associated with Hola Mohalla ?
. (a) Nanded (b) Nankana Sahib ey~ Anandpur Sahib (d) Kurukshetra
frgar Rfge T8-HIB &8 gl § 2
) #eF ®) woaE A0 () wEEYS Ao (d) IgERIT
" Which field is Amrita Sher-Gill associated with ?
(a) Architecture () Painting (c) Sculpture (d) Archery
i Aot T ¥ 7 g & 9

@ ¥ 523 () fosgardt (c) freuardt @) FHamte+h
# Mention the period of Pagri Sambhal Jatta Movement :

a) 1849-50 " '(0) 187273 (c) 1905-06° (d)~71907-08
fmqr Hars Her BT T At R p
(a) 1849-50 ®) 1872-73 (c) 1905-06 (d) 1907-08
” dentify important personality in 1919 in the Punjab :
, (a) Sardar Ajit Singh A5)  Saifuddin Kitchlew
(c) Bhagat Singh (d) Lala Lajpat Rai
137{‘81’4’81919@14#511;53%6“@; |
(a) FITS niFfts frhy b)) Pgets faog
(o) =S d) TH FWS T

CL 12
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Free Hand Highlight


1137 What is the Minj

Mmum : 2
©quired se in parliament !
@ 25 e 4ge required to become a member of upper hou

(©) 35 years /grﬁg ;::iss
mémm?ﬁmmmm@_wﬁﬁ@mw% ?
(@) 257 ) 30FE
) 50 @) S0
114" How many bones are there in the body of a human infant ?
(a) 206 (b) 208
(© 170 —td— 270
HEHT 33 2 HTT T st Ittt Jeior o 3
(@ 206 (b) 208
© 170

@) 270
\/&.(POCSO act makes abetment (encouragement) of .
A2~ Child sexual abuse an offense

(b) Same gender child sexual abuse an offense
()  Same gender sexual abuse an offense
(d) Forced sexual abuse an offense

ﬁaﬁ(POCSO)ﬂazQﬁBaaﬁr :racegnd

@) ¥ fAsH ArE § nugg (b) m%ﬁmwﬁmﬁﬂtgmm

©) FHSTa st fme § nuerg @) 7t frsrt Ams 3

wygg
Mich planet is closer to Sun ?
A4a)~ Mercury (®) Venus
() Mars : (d) Earth
faosr gfogam @33 9 2
() U ®) Fg
(c) Wi @) usst
? 17.) Which of the following are non-invasive techniques of studying brains 2
I MRI :
ii. fMRI
iii. CT Scan
iv. PET Scan e
(a) iandiionly (b) i and jy opy
(c) i, ii and iii only (‘g_u_ b i, iii and jy
ferafayz g fagdnit formar @ fadhuz e Jge Reciott 3 ¢
i, PH.rI.rET (MRI)

ii.  AEAHMIE (MRI)

iii. F.Z%. Aa® (CT Scan)

iv. lﬁ'aa Fla'S (PET Scan) (b) e

(@) in3ii (d) :im@ v free

© i ii 3 iii fifge Hhiling
13



.’

. ith whic '
‘)B' “*“Jockey" is the term associated V! h sport ?

@ Archery (b) Lawn tgnnis
(€)  Table tennis y 9 A4y~ Equestrian fporie
REe ‘Fot' fam a4 s AET3
(b) Mz 25y
(a) Hontesft 2
¢) 2uy M (d) w3z merdt gzt
/IV)Who is V, Zelensky ? '
(8) Defence Mlmster of Russia (b)  Secretary General of NATO
L&y President oankralne (d)  Secretary General of UNESCO .
. Ce i '
(@) A = I g (b) 32 T R Fugm
(©) GIAI5 T gz @) YRS T Aaedt naam
)&ﬂln which year, the first Indian film “Raja Harishchandra” was made ?
1913 (b) 1931
(c) 1930 (d) 1917
@@ 1913 (b) 1931
(c) 1930 d 1917
/ Who is the author of the book “Tale of two cities” ?
(a) Jane Austen by~ Charles Dickens
(cgg Ermest Hemingway " A (d) Thomas Hardy :
e g faava THFIE Y 9 !
(@) W WiAfes (b) TIBA fsaam
(c) niIBAE MR (d) &R TSt \
" Who is the author of novel “Bhabhi Maina” ?
(a) Gu;'baksh Singh (b) Amrita Pritam
(¢) Dalip Kaur Tiwana ﬁ Nanak Singh
5T ‘It He T AU dx Y 9
(a) Foaur ity (b) nifisr Yi=zn
() Sy aq feerar d) == fifw
. Which is the capital of Canads 9
éa; gt)tl;\"ﬂto (b) Vancouver
C wa ]
& ot . Montrea
(a 33'3 (b) Isg=T ' \
(c) (d Hoedns
did India play its first Cricket test match ?
/gfn 1931 (b) 1932
(c) 1947 (d) 1951
93 & iz ufost faee e N & e
(a) 1931
) 1947 (b) 193¢
(c (d) 195}

CL 14



1 A

(@) Trinamoo] C

(¢)  Nationa] Con(;ﬁsr:s’;any
TS at S X

a) ﬁ?%mm(w)éﬁ*mwa?

@ o e (b) T W.ﬁ i
(©) 3nES TR yra C) i et

: r
l:l‘::nm;era(;: I';"Oll\(af ;btl;lﬁscltﬁoa:; :sn'l?ember of the house to stop speaking and let anothe
(@) Pointofo ' . b
(©)  Yiclding the floo e o _
ﬁaW?mﬁaaWK%hﬁﬁwﬁmiéamﬁh@faﬁﬁﬁﬁaﬁ?jm%
AIET J| f'\E'H?j it faar wier 3 9 = ,

(a) I9E T ffg (e wre wirgs)
(c) EisfSar €t 3
(d) THT g U9 F9& (SQHaT € TB9)

en the house of parliament (Lok Sabha or Rajya Sabha) is adjourned without naming a

day for re-assembly, it is known as...
(b) Adjournment of debate

(a) Demand for grants
Adjournment of the sitting house . ~dy—~ Adjournment Sine die

(c)
55 HRT @ AEs (3 AET A I AT § HRes € nEt 3ty 9 g vt o
arer 3, feng faor AT 3 ¢ | |

b) afor § HES< T

(a) qie & Har
(c) o § WO I (@ FFIsHE AEls STET

‘Who is the only pléyer to have won singles “Golden Slam” in Lawn tennis ?
(b)  Serena Williams

ak Djokovic
%)/ ;‘;‘éﬁ G ré?. ovi (d) “ROd Laver
7 gt 3 e 2 e o (Fe®) o e it 3
L - b) AF feshng
I) a<d m&a -
T (d) 93 ¥g
) RS :
. which is the biggest unit for computer data storage ?
it of the ﬁ;';’t‘:'“g " | ,’((3/ Kilo Byte
g,;ﬁaByte (FEan) & n?r;Bm '
iy 2 g HI® St feamet 39
<3 g AUGET ®) S g
far FTEE @ ¥ g

gftar EEC 15
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- TS W

__Jzo./(Vhlch of the following means m\xed economy 1

(a)  Traditional and modem industries

Both public and private sectors are involved
(c) Involvement of both foreign and domestic investors
(d) Importance to both industry and agriculture
%WWW“WW”a 9
(a) TIfES niva Gewd
®b) FIES (unfes) w3 T 39 O HHS I
© o w3 fedm 3 fA & @S
(d) ©uTE w3 Yt =t & YoEEY

)l-/l;ingali Venkaya is related to which of the following ?

(a) Indian Army (b India’s National Flag
(91) Inc!la’s National Anthem y (d) India’s National Song
Rigest 23T forafmys F foar &% FE0S 3 7

(a) TSt eH (b) FI3 T Nt ¥3

¢) I3 2 Dt aftz oAEH) @ @93 i T (Fan)
. Mountbatten Plan (June 1947) provided for a referendum in which of the following

provinces ?

(a) Baluchistan North-West Frontier Province

(c) Sindh 4 (d) Punjab -
ﬁnm&#faﬁgag"mgzézam(gmw)mﬁ?%?
(a) EBfIASS (b) ®TE-TAT T TE
(¢ fAg (d YAE

134. Who among the following was shot dead while hoisting National Flag at Gohpur Police
Station ?

(a) Sarojini Naidu (b) Kanaklata Barua
(c) ManibenPatel = _ &~ Matangini Hazra
mmm‘gmﬂwmnﬁwaﬁrmawﬁwrﬁ?

(a) FAIAar 5EZ (b) THaHI TG

(©) uH (d) W3fordt IHIT
" The major pollutant from automobile exhaust is...

(@ NO | (b) €O

() SO, &~ CO,

W%@(W&W)féﬂqﬂﬁﬁm%:

(a NO (b) CO

(c) SO, (d) co,

A high Biological OXYgen Demand (BOD) indicates that. ..

(a) Water is pur® lﬁ’ Absence of microbial. action
(d) High level of microbial pollution
TIAgEr

() Low level of microbial pollution

gg we-fefamrsa MRS WAl ( YIRHTS ) 3

@ UFHTI : () Wﬁfaﬁwﬁ%m
© Iz yggHs ¥ Ue T (@) Farz ygre ¥ 89 I
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. ?
i imple interest
1367 What sum of fmoney amounts to ¥ 5,800 in three years at 15% per annum sijip

X @) 3,000

»‘f?ff.’j o IW
(b) 26,000 res

ey~ %4,000 (d) ¥7,000 k- 3 9
159’omf€mé€a%1ﬁaﬁmmf§wWF€as,sm§@ gEet J

@ 3,000 qu (b) 6,000 JuP

(©) 4,000 qu (d) 7,000 guB

}/ﬁam and Mansi started a business with capitals of 7 36,000 and ¥ 90,000 reSpedivelyqand

camed X 35,000 as the profit at the end of the year. What is Mansi’s share in the Pl'c'\,ﬁt b
& 225,000 ®) 210,000 b

(©) %15,000 (d) % 35,000
w»@uwﬂ%mss,oooguém%%

000 TUE &' TIET HY 3T w3 S
"3 ‘3 35,000 R B Yz &3 {9 wart o off fFAr 3 9
(@) 25,000 guB

(b) 10,000 FuT
() 15,000 gue’ (d) 35,000 JuB
/ﬂ(A trader buys one kilogram of coffee at ¥ 125 and sells at ¥ 200. What is his profit
percentage ? ‘ k
(@) 20% 5y 60%
() 30% (d) 40%
fex sut 3t 1253@@%&%%»@200@%%%@8@%3?% ?
BreT w13 yims fitar 39
(@) 20% () 60%
(© 30% (d) 40
1397 Who laid the foundation of Durgiana Mandir at Amritsar 9
-—fa’)” Madan Mohan Malviya (b) Gopal Krishan Gokhale
(c) Lala Lajpat Rai (@ Pt Jawahgr Lal Nehru
nifi3Ae fel Tafommar vifes = dtg Jag fomd S
(a) HES HIS HEE (b) ?N'TB f\qﬂE B
() & I TR @ S w3 v g
140. In which year did Punjab and PEPSU merge ?
®) 19
a) 1950 32
o 1956 @ 1957
Urre w3 g fam 75 9 9572 a1 ms 9
' (b) }95
EC) 1956 D 195
- 17
C
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141 . pumber of coins of the denominations 2 1,¥2and? Sb in thfe ra}io
T abag, there are a certal® ™ o coing in the ba is T 756, then the total number of coins
/0f3 : 4 : 5. 1f the total valu® of : 5 256457 (3]
in the bag is ®) 356 ’:63;,:1 ah e
@) e @ 116 63 Jeg  amS
/gam@‘al 2wz s 2R 3452 nmig g o5 3w g fiffer
T S 756 qu B 3t a3 e IO TR 5 5%
(@) 332 (b) 356 22y
: (c) 252 (d) 116 >
Ll)?.%o numbers are in the ratio 9 : 7- If 14 is subtracted from each, the ratio becomes 7 - 5.
Then the numbers are
(a) 39 and 63 (b) 28 and 45
) 63 and 49 (d) 60 and 49

é»’i’a9:7§m§tﬂg‘aaﬁ|ﬁéﬁﬁﬁ‘mgumﬂégfmrsasw
31 3% 2 iz T

(@ 397363 (b) 28m3 45
() 63n249 (d) 60749
/H(. What is the compound interest on ¥ 16,000 at 20% per annum for 9 months, interest
compounded quarterly ? jgowe 11 A
(a) 3,455 —) T2,522 e
(c) 2,500 @ T1,625
16,000 JuT 20% A& fenf 79 3 7 o 5 Hdtfontt gmm (SeIH) Afsmr
e, 3t 9 wAfemit wr ez fenrm fgst 3 ?
(@) 3,4553u® (®) 2,522 quB
(©) 2,500 uz @ 1,625 qu
1447 Sushil decided to donate 16% of his salary for a charity. On the day of donation he changed
¢ his mind and donated ¥ 3,792 wp;c was 75% of what he decided earlier. How much is
Sushil’s salary ? 26 o
(a) 21,500 3”{:' (b) 11,400
Aey" 31,600 (d) T41,400
HHI® nmydt 35477 T 16%

3 th@m?éﬁwﬁ?alwm%fa@
NS HE HEHET ”'%33923@,?“{@#@“%8%%?75%3?5,%33?3'%
& Izug fdat 9 7 i

(@ 21,500 quB (®) 11,400 U@

(c) 31,600 JuE (d) 41,400 qu
/4 36% of a particular number js 756 What is 54% of the number ?

(a) 104; A7 1134

756f’aﬁ‘;"” "'?“?arerﬁ%a’r%?

@ 104 Pt YD ®) 1134

(c) 1165 '&fv . @) 2165

cL 18 “
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146.- Tt 12 men or 20 Women can do a piece of work in 54
5 and 12 women together do the work ?

(@) 45
L~ 40 0

Y5 : - (d)
- .'2’”"-’3“9720»@3*@‘3&'"1{1?54@
J ?

r\ » hd
Vg ) d

A
)

men
days. then in how manyﬁdays iar;q‘i N
ﬂysq . = ﬂ ’:i ,r

“-:I-j {)' i |
33 &
g 59 Ao T6 39 e "3

16 gxee V. @

33 %*

56

) 40 g;;
. A tank .iS filled in eight hours by three pipes A, B and C. Pipe A is twice as fast as pipe B, and pipe
B is twice as fast as pipe C. How much time Wil pipe B alone take to fill the tank ?

28 hours

(¢) 24 hours ®)

(d)

12 hours w .1}
32 hours

(a) 28u2 (b) 12u2 5:?@
24 42 (d) 3242
- A car covers the first 45 km of its journey in 55 minutes and the remaining 59 km in 65
minutes. Find the average speed of the car. WO
(a) 48 km/hr (b) 36 km/hr Lol
()52 km/hr (d) 60 km/hr _ .
ﬁé’awm@uﬁ@%ﬁﬁvﬂzassﬁ%‘asﬁmﬁ&m%wﬁsﬂ‘dﬁ)ﬂzaﬁs fHe
feg 3fg a9t &1 a9 & wims mits uzr 55
(a) 48 fadtes yzt uer b) 36 fodites y=t e
(c) 52 fIBHieT yst wier @ 60 faSiteg y=t wfer
)A{ The average of three numbers is 20. If two numbers are 14 and 28, then find the third number.
S @ 18 ® 26 _
(c) 10 el (d) 24
35 it Tt WAz 20 I ﬁ?M‘dMM?ZSU??,B‘ij}grn.’,‘aa:
(a) 18 (®) 26
i is ¥ 59. Four items With : .
157 The average cost of 16 items 1S an average price of ¥ 60 are returned
A and u-.?;e other items costing ¥ 39, ¥ 49 a,:rf 40 are g, retumned. Find the new average,
(a) it
(c) 62 @

72
16 THIT T WAZE dH3 59 FUT I 4 TR fifxi o0

et m3 I3 S5 @Rzt fist & a3 39 quR,
faFmit gt | &<t WR3 U3T I9 ¢

(%)
(a) 59 165 E:;
(c) 62
. L_.._____-——-—\

. )?//19

S AT 60 JUB Y, TR i

PR3 10 02’y 0 @ iy
E1 Ll W
64 |z
7
576 @&
9

CL
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